AXUBELRL  FTREHNUTTBATFEN - FEEAXHTTBRENE  R— AR EXHER[EE ] —F -

B 8% = ARBREZEMBEER

A ERPTHCLL T BRI BEA WA 2 Fl Y 3R B ALK B IV T (i
FHH) P &g a FiER o (B FIER —) H 1507 5 R TTHA o KRAEHF
Bt H R 55 A S [ 5 ER R AR AT ER— Py &t BT o — DF il

A, ARBREZEABRSHETLEERERE

DU B AR R S % 5 S8 A 0P T G B SRR > TORIEE B &
25 i AT BR S A 78 5 b T B 54 200 K 7 T 51 T skl B A AR Y DA P (AR B R
AA NG AREE S AT EE R EESNEE > HHECR20184°6H30H i
7o R AREE R EZMHE LB S A E S FEREEMS RS - Bl
JA AR R PR BT > oA 0 e LB S Wik [ 4R B ] I B R 20184F:6 1 30 H sl AT ] R Ak H A 52
IR A B B 2 S G AT G TRHE

R2018%F
6A30R
SUNGIEZ DN
&6
BNVEEFE [fR%E] [RE] [
Fikr Fiko Fikr o
(Hfit1) (Hit2) (B3 R4)
RIF RSB R REE TR 235,199 L) LY LY
RIF RSB R R 235,199 L)Y LY LY

(1)  #A20184F6 H30 H B Al A AMENG A BF A TE & s FE T3 3 Bk B A SCA: B Sk — i € 51 R v
& HITR IR 20184E6 A 30 H M A A JE AL 235 4% & 1 HE £5239,796,0007 7T 4w &
3 4EHE T K A 4,597,000 TC R EL -

(4 %K)

-1I-1 -



AXUBELRL  FTREHNUTTBATFEN - FEEAXHTTBRENE  R— AR EXHER[EE ] —F -

B 8% = ARBREZEMBEER

LU 255 28 70 1 B R K o AT (75 36 S B T M) S8 109 W 1
X IS BAT AT -

RS

-1I-2 -



AXUBELRL  FTREHNUTTBATFEN - FEEAXHTTBRENE  R— AR EXHER[EE ] —F -

B 8% = ARBREZEMBEER

EZES

~ 113 -



AXUBELRL  FTREHNUTTBATFEN - FEEAXHTTBRENE  R— AR EXHER[EE ] —F -

B 8% = ARBREZEMBEER

EZES

|



